
10. AABCA LA +2B = 116", 2B + 2C = 126 faquToR UEETKA CTIR A * 

11. AABC 24A = 3 B 6 2C KA LA, ZB 2C Gai 
12. 5 2CAB = 40°, AC = AB BC = BD 

a) ZACB b) ZCDB A 

400 

D 

6.10 7AI TE RITta15 «f8 

bars 6.17 ABC 1 HTI 9 

B 
D 6.17 

a b+c 
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3 b 
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B A b E b 

fa 6.18 

a T, a'=b+c? 

ba 6.19 
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X 

() 2 c5, 3 C5, 4 a 
(ii) 3 asR, 4 i, 5 (B 
(ii) 2 sA, 3 cs, 5 cA 

(iv) 2 A, 4 5, 5 C5 y 
(1) Cae 22+32 13 4216 

eis 22+ 32<42 

(ii) CFa 32+42= 9+ 16 -25 F 5 25 

i 32+ 43= 5 

6.11 401 fy UHU7R (Inequalities of a Triangle) 



b 6.20 cTRea TA AABC, ADEF E AGHI i sI R FRIU TAA C 

B E 
15a 6.20 

AB+BC= 
AB- BC = 

AB 
BC = 

AABC 

BC+AC= BC-AC= 

CA= AC+AB= 
AC- AB = 

ADEF DE= DE+EF = 
DE-EF = 

EF- DF
DF- DE= 

GH- HI = 

EF= EF+DF = 

DF+DE 
GH+HI = 
HI+GI= 

DF = 

AGHI GH 
HI- GI = 

HI = 

GI= GI +GH= GI-GH= 

() (305 f, 55 f, 75 ) (ii) (4C5 , 65 f, 205 f) (ii) (765 , 65 , 505 A) 

(iv) (65 , 85 , 35 M) (V)(36A, 25 , 65 ) 

) (36 B, 5GA, 765 A) 3+5 7, 5+7>3, 3+7>5 
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(ii) (7G5 fA, 6C5 , 5C5 fA) 
(iv) (65 , 85 fA, 35 1f 

7+6>5, 7+5>6, 6+5>7 

6+8>3, 8+3>6, 6+3>8 
ofe, ), (iii), (iv) q eltToI CAEEU PTI TUR CIR H UAue ul 

AB+BC> AC 
AC+AB>BC 
BC +AC> AB, I 

R 98 7 5 , 95 A, 13 5 t ZR DI f TUNA? I| 

7+9 16>13 
9+13 22> 7 

13+7 20>9 

WIR 108 4 5 , 8 C5 1A, 15 5 f DI fag R CIR TAA? 
F TT8AIT 4 +8 = 12<15 

WYSsVA7Va

ptr-6.4 
. bat AB = 105 A, BC = 175 f AD =8 5 f. AC Ada 

17C5 1 10 C5 

2 



3. 

4 AABC 70 1 zR:R RIc)ea1 a 2(0A +OB+OC)> AB + BC + CA 

B 

5. (d) 6,7, 8 

b) 3, 4,5 (C) 6, 8, 10 

(a) 5, 12, 13 

6. 
(6) 505 T, 705 11, 125 f 

(a) 3C5 fa, 4 5 f, 55 f 

(d) 65 , 705 A, 1405 f 

(c) 3 45 , 25 fA, 5'8C5 

7. ABCD aD1 5ge KA 21 A 1 

AB+BC+CD +DA> AC +BD 

DF 

pA-6.5 

1. 

(a) 400 

(b) 600 

(c) 350 

(d) 180° 
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